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53 %Eigz@wzﬁm& 146,850,000 3| 18 2| 25| D7 —Rba—FRL—T3r® B 146,850,000 100.0% 28
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FREAFLIZE D TR FIE L RO

SH2EETS
THER TR | BF | EX |#wxzEl EE | Ot
H4 26 33 49 47 10 31
TFEALER | 96.4% | 91.0% | 81.5% | 90.7% | 94.3% | 87.5%
SMTEEISE
THER TR | BE | EX |#wczal EF | 04
H% 29 32 55 51 15 33
EHEFLER | 98.0% | 89.8% | 84.7% | 89.3% | 92.8% | 90.5%
FERIEETIS
T &5 TR | BE | BR |#wkzs| EF | T
L5 36 31 69 43 19 37
EHEFLEE | 96.7% | 91.4% | 86.0% | 88.9% | 92.4% | 90.9%
ERR29EETS
T &5 TR | BE | BR |#wkzs| EF | T
H51 27 43 77 53 11 42
EHEFLEE | 96.0% | 86.3% | 885% | 87.6% | 95.0% | 87.0%
TH28EETSE
T &5 TR | BE | BR |#wkzm| EF | T
H51 33 40 54 50 12 21
EHEFLE | 964% | 88.0% | 88.6% | 86.1% | 92.0% | 89.3%
TRH2IEETSE
THER TR | BE | E5 |escza| &8 | 704
H4 38 49 63 56 11 30
EHEFLEE | 96.9% | 89.4% | 88.7% | 83.6% | 92.0% | 85.2%
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